h‘ I Math-wordproblems.com

Neme: Class:

Convert between standard and expanded form
1. Write 92,157,341 in expanded form?
2. Write 8,000,000 + 200,000 + 70,000 + 9,000 + 400 + 3 in standard form.
3.  Write each number in standard or expanded form.
65,612 =
2,000 +400 +/180 + 6 =
8,040,000 = .

205,090 =
| 4.I :Wr.ite :92;163,661 .in éxﬁanded fd.rrﬁ?
5.l :Wr.ite :15,b0b + Z,OOb +: 960 + 'I. in .sta.ndérd. fo.rm..
: 6.I :Wr.ite :125,060:-* BS,QOO +:7,0b§ + 100 +:9 .in étahdérd .for.m.
| 7; .\Nr.ite .713.,255 .in éxpﬁanded férrﬁ?

8. Write 36,577 in expanded form?
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Neme: Class:

Convert between standard and expanded form

1. Write 92,157,341 in expanded form?
Seperate the digits with a plus sign. .
892157341 | ——» Q9+ 2+14+5+H7+3+4+1

Now, lets label each digit with appropriate place value name.
9O+2+1+5+743+4+1

Ones (1) place
LTens (10) place..
Hundreds (100) place
— M..Tho.usan.ds..(] 000)!place |
~__ Ten thousands (10 000) place
~__»Hundred thousands (100 000) place
___.___HMiIIions (1000 000) place
., Ten millions (10. 000 000) place

.Fin.ally; mQItiny .eac.h digif b? its: co;’esﬁondin:g p.lacé vélué to:haQe t-his:
.90,.00.0,0.00 .+ 2.,OOIO,O:OO:+ 1bO,bOd +:50,IOO.O +.7,OI.OO.+ S’IOO. ac 40 + 1
| 2; :Wr.ite :s,dod,obo :'I- 20@,060 :'I- fO,dOO + :9,(506 + :40.0 + 3 .in staﬁdard ;form.
We have 8,279,403
L 3. :Wr:ite :eaéh huﬁwbér iﬁ s.tarida.rd br éxﬁanded fc:;rm..
65612 = GOOOO+ SOOO + 600 +10+ 2
_2,0j00 + 400 +_80j +6 = 2.‘;—186
S.,d40,.0.d0 :: :8,OjO.O,I.OO.IO. +j 4.0;OC50

205,090 = 200,000 + 5,000 + 90
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